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1. What is government budget? What are the various types of budget in

India? Why government always prepare a deficit budget in India, Justify

2. What is multiplier? If the initial government expenditure is Rs 400 and
mpc=.6, then what will be the increase in income in the economy?
Discuss the various causes of fiscal imbalance.

3. What are the different types of budget deficit? Elaborate the Implications
of different budget deficit. How to finance those deficits?

4. What is fiscal policy? Distinguish between built in flexibility and
discretionary fiscal policy. Explain the working of fiscal policy to
maintain economic stability.

5. What do you mean by public debt? Explain the various policies on public
debt taken by government of India since 1991.

6. Define revenue and capital expenditure of government budget with
example. Explain the trend of revenue receipt in Indian budget since
1951.

7. What is deficit financing? What is the need for the deficit financing?
Discuss in your own word the consequences of deficit budget.

8. What is federal finance? Distinguish between horizontal and ve~tical
imbalance. Write a note on centre state conflict on finance.
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CbQose the correct answer from the following:

1. The budget is presented to the parliament on-

D a. The last day of March b. 1st March
c. 1st February d. The last day of February

2. Which of the following is not a direct tax?

D a. Sales tax b. Income tax
c. Wealth tax d. Estate Duty

3. Government imposes taxes to?
a. Run the machinery of the state.

Db. Uplift the weaker section
c. Check the accumulation of wealth among the rich
d. None of the above

4. What is the effect of deficit financing?

D a. Inflation b. Recessio~
c. Deflation d. Depression

5. Zero-based means-
a. Previous expenditure included

Db. Previous revenue included
c. Both (a) and (b) cut off
d. None of the above

6. Primary deficit indicates-
a. Revenue receipts more than expenditure.

Db. Interest burden in respect of loan taken by govt.
c. Capital expenditure is more than receipts
d. None of the above

7. Which of the following is objective of fiscal policy?
a. Economic growth b. Price stability
c. Allocation of resources d. All of the above

8. Identify the sequence of implementation of the following taxes in India.
1. Land Revenue 2. Sales Tax
3. MODVAT 4. Service tax

a. 1,2,3,4 b. 2,4,1,3 c.3,2,4,1 d.4,2,1,3
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9. The basic objective of a monetary policy is-
a. Controlling Taxes b. Controlling debt
c. Controlling money supply d. Controlling inflation

10. The tax which is not shared by state is-
a. Sales tax b. Central excise duty
c. Income tax d. Corporation tax

D

D
- 11. Match the following list:

List I List II
A. Revenue Deficit 1. Revenue receipt and recovery of

loans and other receipts minus total
expenditure

B. Fiscal Deficit 2. Receipt minus disbursements in
capital account

C. Capital Deficit 3. Revenue and interest receipt minus
revenue expenditure

D. Budgetary deficit 4. Total receipt minus total
disbursement

a. A-I, B-2, C-3, D-4
c. A-3, B-1, C-2, D-4

b. A- 3, B-1, C-4, D-2
d. A-I, B-3, C-2, D-4 D

Highest revenue is collected by the Govt. from-
a. Income tax b. Sales tax
c. Corporation tax d. VAT

13. Disinvestment implies the-
a. Purchase of private sector share by the govt.
b. Sales of public sector share to private sector
c. Reinvestment to public sector by the govt.
d. None of the above

12.

D

D

14. Deficit finance causes-
a. Fall in general price level
b. Inflationary pressure to rise
c. General employment level to fall
d. Increase in external debt to rise

D

15. A country has proportional system of taxation. A person pays Rs 500 tax when
his income is 5000, how much tax he will pay if his earning rises to 8000.

D a. 400 b. 600 c. 800 d. 1000

16. Consider the following statements and identify the right ones.
i. The 14th finance commission is headed by C. Rangarajan.
ii. The recommendations of the commission will come into effect from April, 1,
2015.
a. i only

D c. Both
b. ii only
d. None



17. Choose the correct option for the following statements whether it is true or false
A. The value of balanced budget multiplier is unity in case of autonomous taxes.
B. The value of balanced budget multiplier is less than unity in case of proportional

taxes.
C. The value of balanced budget multiplier is unity no matter whether the taxes are

autonomous or proportional.
D. The value of government expenditure multiplier is more than the value of tax

multiplier.
a. A- False, B-False, C- True, D- True.

D b. A- True, B-False, C- True, D- True.
c. A- False, B-True, C- False, D- False.
d. A- True, B-True, C- False, D- True.
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Directions (Q. Nos. 18-20) In the questions given below are two statement labeled as
Assertion (A) and Reason (R). In the context of the two statements which one of the
following are correct.

18. Assertion(A) Fiscal deficit is the key indicator of budgetary deficit in India.
Reason (R) Fiscal deficit does not indicate the extent to which the govt. is living
beyond its means.
a. Both A and R are true, and R is the correct explanation of A.

Db. Both A and Rare true, but R is not the correct explanation of A.
c. A is true, but R is false.
d. A is false, but R is true.
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19. Assertion (A) Indirect taxes promote inequalities in the distribution of income.
Reason (R)The poor bear more burden of indirect taxes.
a. Both A and R are true, and R is the correct explanation of A.

Db. Both A and R are true, but R is not the correct explanation of A.
c. A is true, but R is false.
d. A is false, but R is true.
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20, Assertion (A) At present the indirect tax structure is authorized to both central
govt. and state govt.
Reason (R)CST will not unify the present tax structure,
a. Both A and R are true, and R is the correct explanation of A,

Db. Both A and R are true, but R is not the correct explanation of A.
c. A is true, but R is false
d. A is false, but R is true.

~ The paper contains twenty (20) / ten (10) questions.

~ The student shall write the answer in the box where it is provided.

~ The student shall not overwrite / erase any answer and no mark shall be given for

such act.

~ Hand over the question paper cum answer sheet (Objective) within the allotted time

(20 minutes /10 minutes) to the invigilator.
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